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POLITICAL SCIENCE
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  Which of the following is not an organ of Kautilya's state ?  a
(1) Swami (2) Amatya (3) Varna system (4)  Danda .rﬁ )
{ r
2. Plato’s communism of family and property was largely derived from the experience of :
(a) Stagira (b) Sparta () Athens . (d) Venice
Choose the correct answer : d i "
® @and® @ @ade)  GAE Gy (4) (b only
/ |'
3.  Scholasticism of middle ages sought to establl{sh Do) |

(a) Supremacy of political domain over the spiritm‘al. [
(b) The autonomy of intellectual freedom over the pfgdlitical regimes.

(c)  The ascendency of theology ower the philosoph'y. "

(d) The subordination of rational iiement to the theological element of the church.
Select the correct answer from‘ tile Godes given below :

(1) (¢) and (d) (2) (@) and (d) (3) (a) and () (4)  (b) and (d)

4.  Match the following § = ~

List:1 { List-1I
(a) Modern pblitical thinker (i) Plato
(b)  Positivist school (i) Machiavelli
{ (c) Normative:fnoli'tjcal theory (iii) August Comte
(d) Scientific/inductive method (iv) Aristotle

Codes:
@@ () (0 ()

M) @) ) @) )
@ @) Gv) () (i)
@) O @) (v (i)
@) @) @ () ()
o-azss |1 2

www.examrace.com



it o
To-U - 11

e : 39 TA-TF H UE (50) Tg-fahed T U9 €1 Y% 9 F OF (2) 3% 1 Wt geA Srfrard ¥

1. Trefafed § 9«9 sifced & 9 &1 1 T8 § 2 .

(1) @ (2) STHETA (3) avi-HeEd (4) <TT \ y
2. ™A % URAR qo grufd & Greere & fag w ot gera: s el g e 2 [

(a) wR (b) e () TIw (d) dfE

HE W A T HiG g1 f

(1) (a) R (b) 2 () #R (o) (3) %—d‘q @  la &
3. HeYohlg éﬁ WI(’HI%IH“‘*—I bl 3T A1 ¢

(a) STEATTCHS &3 T TSI & i Haﬁaen

(b) TSTHIfd SMEA SFae W dif g W=l St tammwﬁm P

) A F IR uH w1 YA

(d) =9 o =ift® T & AHH ac—oﬁaﬁaﬂw -

T fed T e F TEH IR H 7 AT

(1) () ¥R () (2) @) IR (d) (3) (a) ¥ (o) (4) (b) ¥ (d)
4. Tr=fafea #i gafaa }ﬁﬂﬂq :

et - 1 T - 11
(a) YR {gﬁlldch foremeh () i
PORREERICED FElCIN (i) Hfwameet
O IRELULEIR:ED ‘%@ﬁ% fagm (iii) TR HI
@) émﬁ%/awmﬂm fafy (iv) oRE
%< |
L @ (b)) (0 (D

(DY, @) @) 6 Gv)

(2) =) (v) (@) (i)

(3) (i) (ii (iv) (iii)

4) (iii) (i)
13 il ;
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).

Assertion (A) : Power corrupts and absolute power corrupts absolutely.

Reason (R) : Democracy is the best check against the misuse of power as the power is
distributed among various groups.

In the context of the above two statements which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not correct explanation of (A). f
(3) (A) is true, but (R) is false. J
(4) (A) is false, but (R) is true. i { 3 1
Match the following : d
List-I List-1I B f
(Thinker) (Idea) _ « \
(a) John Locke (i) Partyless”demoeracy
(b) Hobbes (i) Consent theory |
(c) Jaya Prakash Narain (iii) Neol-iiberalfsm |
(d) Robert Nozick (iv) Absolute so‘er ignty
Codes : ,f‘ ;
@@ (b) (o) (d) o
O @ @ O @ , (
@ O @ @ @0 «f
G @) @@ @) () Fg o
@) (@v) @) @ @) =

i,

Match the items of List-F with items of List-II by selecting the correct answer from the
codes : ' |

List-I List-II
(Thinkers) (Theories)
(@) Mao Tse Tung (i) Proletarian Dictatorship
! (b) Lenin {‘ (ii) Cultural Revolution
(c) Marx | (iii) One Country Socialism
(d) Stalin (iv) Communist Party as the Vanguard of the proletariat
Codes |
L @ (b)) ()
Mg ) 6 )
@~ Gi) ) v @)
@) (v () @) (i)
@) @ v ) 6
oazs [ NNANN ‘
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5. < wed 3 T € U w1 eifieRe (A) 3R TE w1 ek (R) TRl TR
afirener (A) :  WIfod e ST € qem qoi Vi quiEr g S § |
e (R) : Arend  wiferd o geqan & foeg gataw e € & =iifer wfs fafim aq@l &
famfsa & St 71
ST oAl & Hed # frfafed § 9w @@ €2
1) (A) 3R (R) IH TA ¥, 3R (R), (A) FT T TR |
2)  (A) IR (R) < T €, AfFT (R), (A) FT TEI TR T _
(3) (A) T T, Y (R) A T P
(4) (A) ¥EF §, T (R) §F T

6. Tr=fafaa =i gafaa wiE -

T -1 T - 11

(o ) (foam) . * |
(a) < A () = e d
(b) ®sH (i) H'—Hrqlfaﬂ EEFAR ,-'
(c) S USRI AR (iii) Wéﬂ'ﬁ-aﬁ\ /
CORECAINED (iv) O EYa
@ (b) (0 (@ " |
1) G) @Gv) (@) (i) < { '
@ O @ @ @ )
3) @) @ @) @Gv) .

4) (v) @) (@) (i)
7. gEl- 16 g - Hﬁgﬁmaﬁmaﬁ?ﬁﬁnﬁ@ﬁaﬁwgﬁé

GRS et - 11
(ﬁﬁn'@g (fagm=)
(a) ST G, (i) EeEN SAfHAEREE
[ b afm f (i) SRl i
(c) wr | (iii) T UL HHSETR
(d) w=ifed (iv) BRI & o U0 ok €9 H HRIFTE el
FE : |
L @ (b (0 (d)
My ) Gv) @ (i)
(2) = @) @ (@v) (i)
€)) (w) (11) (i) (111)
(4)

Dozt HII\HIHII“HH“II\||

I\IHHH ;
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8.  Rearrange the following works of Karl Marx in sequential order in terms of Publication Year.
(a) Critique of Political Economy (b)  Poverty of Philosophy
(c) Communist Manifesto (d) The Holy Family
Codes :
(1) (), (), () and (@) ) (), ©), () and (b)
(3)  (b) (a), (d) and (c) ) (d), (c), (b) and (a)
§
9. Communitarian theory lays emphasis on : { é
(1) Community as an inescapable ideal [ 4
(2)  Unlimited freedom of the individual
(3) Limited role of the state - 4
(4) Partial regulation of market economy _ { ;E'
»
10. Given below are the two statements, one labelled as Asse‘lrtion (A) and the other labelled as
Reason (R). Select the correct answer from the codes glﬂzen below.
Assertion (A) : Behavioural political theory sough) ‘ghmmate the role of values and make
Political Science a pure science an ntitative.
Reason (R) : Political Science, being a social scienceyean” never be value-free as it deals
with human beings'who are value -fbound
(1) Both (A) and (R) are true mjld qR) is the correct explanatlon of (A).
(2) Both (A) and (R) are truh imd (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but(R) i is true.
N
11. In whose description Maulana Azad, Jawaharlal Nehru, Vallabhbhai Patel and Rajendra
Prasad formed;an oligarchy within the (Constituent) Assembly’ ?
(1) Granville Austin (2) Morris Jones
(3) V.P Menorg (4) Richard Sisson
12. Which one of the following Acts has not been passed under article 34 of the Indian
Constitution ? |
(1), The Border Security Force Act
(2) ‘:" The Police Forces (Restriction of Rights) Act
(3)  Armed Forces Special Power Act
(4) The Army Act
oazss | [{IHNUTRNI :
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10.

11.°

12.

Flcl A1 i Fefafad et & 376 YRR 8 % 98 & ST{UR Wl Hieshd H Sgared

Fife

(a) Torfesh & uiferfeshel seRiAmHt (b) e SATE fHHiH!

() =FHfT= ATl d) < St

e :

(1) (d), (b), (©) IR (a) 2 (@), (©), (d) 3R (b) [

(3) (b), (a), (d) ¥R (c) 4)  (d) (0, (b) R (a) { s
; ;

BRI EARIC GG A f
(1) oTRErE o7eel & &9 H ¥ W (2) a:f%ﬁﬁaﬂ:ﬂﬁﬁwmm
3) T w1 Hifa yfiren © a;ﬂa?eisqawmaﬂfémﬁﬁmqw

= & e fed ™ E Qzﬁﬁaﬁmm(maﬁwﬁﬁmﬁ@ww% T fed T Fe ¥ wE

W A |

AURIT (A) :  HATTRAGE] TSHIdh (TG h1 3L Ygéﬁh‘"r gﬁqm AT . I foe
ﬁg@ﬁamawsﬁwaﬂmml ¢

e (R) : qmwﬁmﬁﬁ{ﬁﬁ%wmﬁrﬁaﬁﬁ%ﬁﬁﬁwﬁﬁﬁﬂﬁmm
TR il PP Ty A F § S g A A 2 T

(A) 3R (R) SHI T € IR (R), (A) FT T TT<THI T |
(A) 3R (R) TAIHRA T 3T (R), (A) FT el T T |
(A)w%,mﬂi(ma%m%

(A) TLE G ()T R

(1
2

—

3

—

)
)
)
)

4

{ frs aut § ol ISTE, STeTEeel eE, deauuE ue a1 Te g9 ¢ (Hiaum ) §

3Teqad’ H®IH 9 ?
™, ﬁ-—r%aaﬁﬁlz:r (2) wRE S (3) @ B (4) =< faua

i
frefefed o @ form stfafem =1 vt "faum & sges 34 % St=ia wika &l fofan T €2
(1) i gRen 9 srfufm ) Ui @ (Rl # frefem) srfufrem

() v I fouw afyer sfafm (4) ¥ aAfufwm

o-azs [N 7
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13. “The Supreme Court of India is at long last becoming, after thirty two years of the Republic,
the Supreme Court for Indians”. Who said this ?
(1) Justice V.R. Krishna Aiyyer (2)  Justice P.N. Bhagwati
(3) Upendra Baxi (4) Nani Palkhiwala
14. “India has a hallowed place in discussions of democracy...... But it has become less tolerant,
less secular, less law-abiding, less liberal. And these two trends - democratization and
illiberalism- are directly related”. Who writes this ? \ y
(1) Atul Kohli (2) Sunil Khilnani (3) Fareed Zakaria (4) "Paul R. Bfash
{ r
15. In which one of the following cases the Supreme Court of India has laid down exhaustive
guidelines for preventing sexual harassment of working womeén in place of their work ?
(1) Hussainara Khatoon V. State of Bihar y \ (
(2) Delhi Domestic Working Women's Forul;ﬁ( V. Union of India
(3) Olga Tellis V. Bombay Municipal Corpg{ratior}
(4) Vishaka V. State of Rajasthan and others. \ /
4
16. Match List-I with List-II and select the correct answer.from 'fﬂe codes given below :
List-I 4 List-II r
(Leaders) -9 \4_:{ (Political Parties)
(a) Ram Vilas Paswan __ A (i) Samajwadi Party
(b) H.D. Kumarswamy (ii) Nationalist Congress Party
(c) Praful Patel !i' - (iii) Janata Dal (Secular)
(d) Akhilesh Yadav | (iv) Lok Janshakti Party
Codes J »
@ me @
1) () () fiv) \ )
@ ((v) @) (@ 0
@), () () |Gv) (i)
4 O @ 6 W
II'.
17. Hov; many functional items have been placed within the purview of municipalities by the
Twelfth Schedule to the Constitution ?
(1) 18 (2) 30 (3) 35 (4) 40
s [NV AN 8
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13. ‘' YR 1 THAH I 3T<4:, TR & a9 99 o1, YAl o foad S=ay =maed o1 T g1’
Tz fheent Hed 2
(1) =L o3’ FW7 TR H (2) =M 9. W H
(3) U= FeRM &I (4) T UTCTeRIATE
14. 'R HT Akad & foeR-ved # ufow wE ¥ m@%wqﬁw wqaﬁﬁ&f %u fafy
STTEROTSRT, FH SR & T § | IR A S ygfaai - cArshd e |H$Td+1<l<q|q11$?§{:|’{@‘g@%l
I8 FoA frge 872
(1) g et 2) gia faeadt  (3) wIR SR (4)'rtnaam.am
15. ffafea o 9 foq 7wt o W%WW%WWﬁWW@%Wm
1 RATH 7Y SATH feentaer S fordl § 2
(1) TR @A 9 foer T ) f{;ﬁﬁ SRe] RIS Hiecdl He S 9Rd Hel
(3) 3 fas s Fws TR ﬁ\W@aWWWWa 3T
16. eIt - 11 T - Ilﬁgﬁﬁaﬁﬁﬁamﬁ%ﬁﬁnﬁ%QWWaﬁﬁ
Tl -1 S e
() 1?‘3{ (it )
(a) T foam qEam = (1) et are
(b) THEl FHREETH (i)  TegATEl HIUH TR
(©) vEed wE | J{ (i) S A (FHRER)
(d) e e R IRSICASE NIRRT
;- S
[ @ o EC) \ (@
1 (@) @) f(Gv) @)
(2 (v) (i) (G) ()
@) G @ [@v) (i
@), @O @) G (@)
17. Gfaur o1 sReel Sg= gr1 TR uifershieli & &5 & 3wt fordrl wrieres 7 et T & 2
2) 30 (3) 35 (4) 40
ooss [T ; Papec
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18. Rearrange the following in chronological order :
(a) Punchhi Commission
(b) Anandpur Sahib Resolution
() Administrative Reforms Commission
(d) Rajamannar Committee
Choose the correct code : i
(1) (d), (@), (b) and (c) (2)  (b), (d) (a) and (c) \ y
(3) (@) (b), (d) and (c) 4) (9, (d), (b) and (a) {
{ r
19. Who among the following was not the speaker of the Lok Sabha ? d
(1) Rabi Ray (2) Hukum Singh ; f
(3) Baliram Bhagat (4) (j;p_al Swarup Pathak|
»
20. Match the following and select the correct prgﬁrs ;i ll.'l
List - I - List-I /
[Authors] [Bookshj
(a) Norman D. Palmer () " The success of Thdia’ s Democracy.
(b) Granvelli Austin (i “Elections and Political Development : South Asian
N {  Experience
() Myron Weiner . A (iii) Indian Constitution : The cornerstone of A Nation
(d) Atul Kohli (iv) DPolitics of Scarcity
Codes : !‘. .
(@ (b () (@]
O @ @)@
@ Giy @0, @
e 0 @ Eﬁ) )
@ ) O @ )
21. Which of the foilowing were described by David Easton as intellectual foundations of the
System Analysis ? Give the correct answer from the codes given below :
(@) ':" Regularities (b) Verification (c) Techniques (d) Quantification
Codes':
1) (a) 2) (@ () ) @ (®) (© @) (@) (®) () (d)
oazs [ NNANN 1
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18. TrAfafEd %1 9&t Fowd ¥ afkad sifad
(a) St mEm (b) A=Y HIfgs 1 T&E
(c) TR GUR ST (d) TSR gfhfa
WE e A1 T HiGA
(1) (d), @), (b) IR () 2 (), (d), (a) R ()
(3) (@) (b), (d) R () 4) (9 (d), (b) ¥R (a) /
19. Freferfaa § & = o w1 ¥ qerE T a2 { f
1) Maw 2) &BFHfEe (3) wfer™ 9d (4) T TEY TSH
20. ﬁHFﬂF@dﬁ@HfﬂdW@WﬁWW}/. . ,, |
et - 1 vﬁu m |
(SEF ) (THE ) \
(a) A Sl 9 (i) < FHY AE @rmaw%
(b) o smfee ) e e St A « A v v
(c) WA 9 111)‘&{%‘&'-! SR © T A S(F T RH
(d) g e .le) qifcAfeay 3T Thifdel
®e l
@ (b (© (@
M G G (@) @)
@ @) @y,0
S0 @ @ L5 G)
L@ @ 0 ?) (i)
21. efges=aaf HH'(’HGG T 9 fore gomet favero (faey wemsfag) = sifgs snurfyen & w9 9
e foben &2 9 el 7 e @ I A
(a) g Freafirarare (b) AT (c) TR (d) wfETE
%2
1 () (2)  (a), (b) (3)  (a), (b), () 4)  (a), (b), (c), (d)
o-os [[[ [T HITALANT n
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22. The study of comparative politics became significant after the :
(a) World War I (b) World War II
(c) Emergence of new nations (d) Rise of middle eastern nations

Choose the correct answer :

(1) (a) and (b) (2) (b) and (c) (3) (a)and (d) (4) (b) and (d)

p .
23.  Who among the following is regarded as the Father of Comparative Politics ? ; f; ‘
(1) Plato (2) Aristotle (3) Lucian Pye (4) p GA. Almon

24. Match List - I with List - IT and select the correct answer by using the codes given below :
"

List - I List-1I ™ \ {

(Author) (Title}// < |
(a) C.W. Mills (i)  The fuling class J
(b) Vilfredo Pareto (if) Iror{r Law o Ol'{;archy
(c) Gaetano Mosca (iii) The Power Ell(g 3
(d) Roberto Michels (iv), kCirculation o{( Elites f
Codes - d.){

@@ () (o) (d) _1 i
1) (Gv) @) G @
2) @ (i) (iV)“. (i) .
@) @) () Gv) @) |
(4) i) @), G ()

i

#
F

25.1 Which of the foll mg is not true of pressure groups ?
(a) _interest articulation
(b) # funding th.]e political parties
(c) influencing the policies of the government
(d)lk  implementation of policies
Choosé the correct answer from the below :

(1) (a) and (b) (2)  (b) and (c) (3)  (d) only (4)  (c) only

oazs [T 5

www.examrace.com



22. fordeh q9aT qorTcHeh TSTHITA o1 31899 Hgwqul &l T3 |
(a) M fava g3 (b) fecta forea g
() T UL & A (d) WA Yd F T H I]5A
HE ST H T HY
(1)  (a) 3 (b) (2) (b) 3 (o) (3) (a) ¥R (d) 4) (b) aﬁj (d)
23. fr=Afafed § 4 8 qaTs TeHIfa e &1 S 7M1 51§ 2 r "'ti'
1) i 2) R (B) e e (4). SusTeHe
24, gt 11 e - 119 e T s A9 Fed g AR Wl e e i
Tt - 1 whul 7
(@ ) (vfdw) |
(a) Hiesy, faew (i) e \ "
(b) foctRel 9 (i) STCdS H TE HEA S
(c) T At (uf" “mifga erfvsm f
d) et ey -11:"(-1&;) Al w1 IR
e =
@ (b ()= (d
D Gv) (@) @ 5o
@ O @) @
(3) (). ()& @Gv) ()
[ (@) (D) (iv) ‘F) \ (@)
25. freAfafad & & =4 e wEl & TR H T T 82
(a)t i srforere T (b) TSTHIfdR el 1 fo deo
(c)\y TR FT A 1 gl w2 (d) A @w FA
e T e @ wd s g
(1) (a) 3 (b) (2) (b) ¥ () (3) e (d) (4) Fd (o)
ooss [T 1
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26. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(a) India (i) Rule of Law
(b) U.S.A. (ii) Judicial Review
(c) U.K. (iii) Two sets of courts
(d) France (iv) Due process of law
Codes :
@ () (© (@ ¢
® @ @ G () /
@ G @ O G :
® @ O @ @ f f
@4 Gv) @) @ () 4
27.  Which one of the following statements is not correct in regard to Aristotle’s classification of
governments ?
(1) The classification of governments was on ,d::a basis of number of people involved in the
task of governing. ..'f '
(2) Whether rulers governed in common interest (the genuine form) or in their own
(perverted form)
(3) The government is more effective and stable Miwﬁ rulers govern in the long interest
(4) The government is captured by shared interest and remains insensitive to shared interests
of the whole community. N f
|
28. The crises described by Leonaid;%iﬁder et all in their book “crises and sequences in Political
Development” are : -
(a) Identity crises (b) Integration crises
(c) Legitimacy crises (d) Resource Mobilisation crises
Codes : { -
™ (a) @ (@), () ®) @ (0)(© 4) (@) (b) (c) (d)
29.  Which of the féllowing factors are related to load capacity in the communications theory ?
/ (a) responsiveriess, (b) fidelity
(c) backgroun?‘enoli'se (d) distortion
Select the correct'answer from the codes given below :
(1) _ (a) and (b) (2)  (b) and (c)
(3) (), (b)and (c) 4) (@) (b), (c) and (d)
'.
30. Whlch one of the following said, “the power is a matter of getting people to do what they
would not have otherwise done” ?
(1) Flannah Avendt (2) Robert Dahl
(3) Max Weber (4) Hans Morgenthau
oazs [ NNANN 1

www.examrace.com



26.

27.

28.

29.|

30.

T - 1 1 it - 11 9 gafad wifsd aon = i3 T 52 9 98 S| 9
Tt - 1 Tt - 11

( () ~ RTLT hT A

( (i) e e

) .+ (ili) AT % T Fe

( (i

1
iv) A i 3fed gfwe

- 'i
e BT ot e i i 9 A o w4
) TR B iR S e e el S o s o
) wwmm%wmm%ﬁ(amﬁm)ﬁ% o fi (Forgpa ) & o e )
(3) U WIHR Ao FTet qe Tt Bt & S fed # e et 7
) R W fedl % ety @it & an o weE % @ fedi % w st 2
WWWWW%{W“WWWEWW’W
Seor@ ford T e ¥ -
(a) &S A GRS (b) EHHA H Hehe
(c) dud w1 Hdhe | ’{ (d) HEEA JeH 1 Hehe
%2 : .
M @ wy 2) (a), () 3) (@ (®) (9 4 (@) (b), (9, (d)

! Fretferfiad § @ S H-9 FReE SR fog § oie Hifed @ wetE 32

(a) oTIfRamicram (b))  fowereaan (c) =Y gifld d) dre- W

1) (@) 3 (b) (2) (b) &R (o) 3) @, (b)) @) () (b) () I(d)

frefeiEd & @ o8 frgs wo €, vl og £ 1TEQ ol @ w1 S3En ST g € 9o T a9
¥ o T w2

1) TR 3feee 2) TR T'A (3) T AW (4) THHNRES

1)
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31.

32.

33.

34.

35.

36.

Who among the following is not associated with evolving the principles of organisation ?
(1) Henri Fayol (2) L.D. White (3) L.F. Urwick (4) Luther Gulick

Who among the following remained chairman of the Comparative Administrative Group in
the United States of America for 10 years ?

(1) Woodrow Wilson (2) D. Waldo
(3) Fred Riggs (4) Herbert Simon -F

4
The ‘one best way’ in scientific management means : {
(1) Equal division of work J f
(2) Intensive analysis of work processes ’
(3) Mental revolution on the part of workers and management: | F
(4) Standardisation of work methods - \ (

*

Which one of the following is not a staff agen{:y inUS. A'
(1) State Department I Offlc‘ix-)lf B’udget and Management

(3) National Security Council 4) The House

What is the correct sequence of F. MgMarx s ClaSSlfICTZIOl’I “of bureaucracy ?

(a) Merit (b) Guard1in (c) Patronage (d) Caste
Select the correct answer fron} t’}l1e odes given below :

(1) (@), (), ©and (d) = ) () () (d) and (a)

(3)  (b), (d), () and (a) (4) (9 (d), (a) and (b)

il -
Performance Budgeting was introduced in India on the recommendation of :
(1) Paul Appleby Report

2)  Gorwala ileport

4)  Santhanam/Committee Report

()
 (3) First Administrative Reforms Commission Report
(4)

37. Domicile qualifiTation for public appointments was first used in :
(1) the UK. (2) the US.A. (3) India (4) Australia
b
38. The Chief Information Commissioner and Information Commissioners in India are appointed
for a term of :
(1) 3 years (2) 4 years (3) 5 years (4) 6 years
oozs [ [IIIIHIINANT 16
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31. G & fagidl & fawm @ f=ifea d #i et T8 82

(1) T waa 2) TAEL =B (3) TATE 3w (4) W IR
32. fr=iferd ® @ o <@ 96l o st wrfea wefaftefea qu 1 ereaet w2

(1) =0 faem 2) <. 9w (3) e fom (4) 'FI'IBIFT
33. AN yeEA W ‘T e A e ¥ # i

(1) & o1 §AH deER (2) e Hishae 1 e fageril

(3) IR IR Y& i AATS Hifd (4) Wﬁrﬁﬁaﬂﬂ'ﬁﬁw
34, FeAifRa # 9 FH 9URT § UF wE E A 2 0 | *. (

(1) e feudde (2) %';;W S e T HATHe

(B) e faenfE wRfaa Kr{e‘m
35. TH.TA. Wmﬁwmﬁ%mﬁwmwvﬁmw%

(a) Hfqwm (b) a?fuma%' m_‘w (d) Sifd

W@Wﬁﬁﬁuﬁaﬁ}?ﬁwﬁ :

1) (@, (), (@Ta(d) @) (b), (), (d) T2 (a)

(3)  (b), (d), () To@). * 4)  (c) (d), (@) T (b)

\

36. WRd ¥ fwared w§te ﬁ‘-ﬂft’iﬁld T ¥ formaht famifier w g fowan o

(1) e el e @) iraren foe

[ (3) wem wrcrﬁ’\% QYR R RO (4)  Herm wfafa fad

37. Rl Tfel § qa sifyem I i1 geyed 39 o T o ¢

(11‘ I | 2) JTETH (3) 9RaH (4) STt o
38. Wﬁ'{[@??ﬁﬂ AT qT G TG 1 g i St @

(1) 3=8 % fad 2) 459 & fed (3) 594 & fad (4) 694 & ferd
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39.

40.

41.

42.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : The practical application of the principle of unity of command is not always

feasible.

Reason (R) : Administrative and technical tasks generally need different kinds of
supervision.

Codes : .

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) {

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A) {

(3) (A) is true, but (R) is false f §

(4) (A)is false, but (R) is true ¥

r
The aim of E-Government is to make the interaction’between government and citizens.

a) more frien convenient transparent d) inexpensive
friendly (b p p
|
Select the correct answer from the codes givén below : |
| |
(1) (a) and (c) 2 | @ (bh?d ©)
(3)  (b), (c) and (d) (4) (@), (b)) and (d)
A (
Economic diplomacy is also termed gs : !
(1) cultural diplomacy \ ? € (2) oil diplomacy
(3)  crisis diplomacy - (4) development diplomacy

i,

Which of the following is*het a characteristic feature of non-alignment ?

(1) Non - alignment staltlds for plurality and democratic equality among community of
nations. |

(2)F It opposé@ all forms of racialism and discrimination and it champions the cause of
fundame:lj freedoms. Economic and social justice is the motto of non-alignment.

(3)  Non-alignnient rests on the presumption that national security is linked with national
strength of /individual nations.

(4) » Non-alignment asserts that international peace is an alienable prerequisite for attaining
national astirations and for the exercise of sovereign independence.

43. Which of the following is not a technique to exercise National Power ?
F
(1) Diplomacy (2)  Economic state craft
(3)  Use of military force (4) To join a world organisation
oazs [ [N 1
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39.

40.

41.

42.

43.

= < e a3 T €, T 1 R (A) TR T I ek (R) FE TN ¥ | A G T e 1 wEm
X HE I G
AR (A) :  FHM &I Tehal & TG H1 ATRIRS STAN FHIN HFeH el il |

e (R) : YHETId: YR qe1 qehieht &1l § fafie Jer & Tiaetor i sTavdeharl aidt
Tl

e :

(1) (A) 3R (R) SH A T 3R (R), (A) FT TE TR |

(2)  (A) TR (R) I T T AR (R), (A) FT T LT T € ;
(3) (A) ¥ T, WY (R) IFA T

(4) (A) A T, R (R) ¥4 &1

2

, {

- 1 8T GIHR a1 ﬁl*lﬁ*i%aﬁawﬁf"m:mﬁ,ﬁaﬂw%l

() oo () FaweE [(0) vr{z{sﬁ (d) T

= f¥ T Fe @ W@ W I - , ‘ '

(1) (a) 3 () 2 @ O O <bf)<_c>‘3~’ﬁ}-’<d> 4) (2, () (© 3R (d)
Y (

i A 50 T ot T ¢

(1) TiEpids FeAifd (2) j{ﬂ@-rﬁﬁr (3) Tae peAfa  (4) fawm Hefd

ﬁmﬁ@aﬁ@wﬁ?ﬁwﬁﬁ@wﬁ%?
(1) WWT@%F&‘:{@?# SEAATE 3T AThdi ek THT T TaTer |

() %W@ﬁ? IS T Gt qrewal 1 fale R § IR Hiferes wadan w1 aneds g1 enfiie
ﬁwwﬁmmﬂ?ﬁﬁwaﬂm%l

@) ﬂ?ﬁ'{'e(?d'ﬂ?% RO TR SR & o Togtan e T okt T w9 R

(@) PRI IW 9@ W favers wa § fF srRie e Ui smtanet B aw w aiR
: WWW%W%%E@WWE%

'.
fretferfad & & w0 T vl % ST # aEE 16 2
(1) FeAfa (2) T ST
(3) = wfEd &1 ST (4) fova g # wfia g
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44. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Book) (Author)

(a) International Relations (i) Gerhard Wahlers
Theory : The Three Traditions

(b) The North South Divide and the (ii) Tadjbaksh Shakbanon and Anuradha Chenoy
International System i

(c) Human security (iii) N.B. Adams /

(d) India and the European Union (iv) Martin Wight { 2

Codes : |
(@ (b) (o) (d) y

W) (v) (@) @ YL P f

@ () @) 0 ) S R

@) ) O @) () Y “

@ @ ) @ v f’ 1 ]

45. Which one of the following can be regarded as the g@ney of power ?

(1) Food Nuclear Weaporis

(3) Industrial Capacity % «.(4) Militaryf Preparedness

4/ '
46. Which of the following staterrtelilts ‘are correct ?

(a) According to Article 3~of the charter, the countries that attended the San Francisco
conference, June 1945 and those who signed the United Nations Declaration
on 15t January 1942 became original members of United Nations.

(b) Switzerland bedame 3 member of United Nations in 2003.

(c) The regular session of General Assembly commences in September and usually goes on
till the end of the year.

(d) The retiring members of economic and social council are eligible for immediate

f re-election“also}

Select the correct?answ;ver from the codes given below :

(1) “(a), (b) and (0 (2) (b}, (0) and (d)

()" (@), (b) and (d) 4) (@) (©) and (d)

\
47. Wﬁq,. was of opinion that, “the end of cold war represented the victory of ideal state”, and
liberal capitalism ?

(1) Michael Doyle (2) Thomas Dunne
Francis Fukuyama (4) Samuel Huntington

L HIH\IHII IR 2
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44, FET- 1% Gl - 11 § GAfea 3 IR A= U 70 2l § |/l S 1 =997 A

it - 1 it - 11
(qeh ) (or@® )
(a) FeEHA R o) @ T ot TS () T@E AW
(b) T MY =Y feame T T serivma fawen (i) TR YRS AR ST B
(©) i fawhf (i) T, T ' /
(@) e T < e e (v) mfévame > g
e :
@ (®) (© (@ ~p
M) Gv) Gi) ) ) a & |
@ @ @) O @ f/" 2
@) G @ @) @ [ | |
4 @ G G (v) \ ,,/
5. Frofen % 3 i 1 T (g S ) T 87
(1) oA (2) Wgﬁw (3) oifEnfid amar (4) 9 TR

Bd
46, TreterEs ¥ @ HH-Q s wl £

(a) TR AToSa éﬁv‘ STAER TS S0 3 TR T § S 1945 H A1 faran o iR =g
1 STeRT 1942 1 T g =90 95 TR &R fohT & o T T2 o o 98 9 |

(b) Wzooﬁa@aawﬁawwam

J(c) ST W RLHTE[E H FEereR H STRe g1 ¢ AR AHAR WA ok o1 doh S Tl € |
| () i s g e 3 GaE @ 1 aee aee g i 9 3 e R R
A f3 T Fel § WE I H T B

1 @O O

(b), () FR(d) (3)

47. Toe % o1 ofa g5 1 o1 STRYl T SR SERATRT YSiarg o fasra w1 gfafifae sar g1’
(1) ¥EHa eFa - (2) HITH FHA (4) TS gfeed

o-azs [N :
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48.

49.

50.

oazs [T 2

Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II

(a) Soviet Union - German non-aggression pact (i) September, 1939
(b) Germany invaded soviet union (ii) March, 1939
(c) Germany occupied Czechoslovakia (iii) June, 1941
(d) Germany invaded Poland (iv) April, 1941
Codes : {

@@ () (o (d) ;
M ) G 6@ 0 {
@ @ @ O G ‘
() i) @ (@) () y
@ @ @) @) (i) g1 . f

. N |i
Which of the following statements are correct "
(a) The convening of Bandung conference,ll.‘i955 was suggested by Sri Lanka.
| I

(b) The immediate provocation to convene this con_férence was conclusion of a treaty
between Taiwan and the United States, and cteation of SEATO and Baghdad Pact.

(c) The idea of holding this conference was welcomted by USSR and China.

(d) Bandung is a city of Indonesia‘ e

Select the correct answer from the codes given below/:

(1) (a), () and () @ ) @and @)

(3) (a), (b) and (d) - (4) (@), (0) and (d)

Which of the following article of charter of United Nations provides that “all the members of
the UN undertake tol make available to the security council, on its call and in accordance
with special agreements, armed forces, assistance and facilities, including rights of passage,
necessary for the purpose of maintaining international peace and security”.

(1) Article 1 (2) Article 42 (3) Article 43 (4) Article 44

J*l '
f , -00o0-
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48.

49.

50.

T - 1 1 gt - 11§ gafera & iR = 3w T el | 981 S| &1 999 &Y -

et - 1 Tt - 11
(a) HIfoad §9 - S SR Gy () faa=r, 1939
(b) A A1 Hifedd § W SAGRAT (i) ¥, 1939
(c) A T ARAETRAT TR HesTl (i) S, 1941
(d) T W STHAT T STRAT] (iv) oT9d, 1941
%< /
@ ®) (© (@ {
M (v @) (@ @ { [
(2) @) (@v) @ (i)
(@) @) @) (v) () ,
4 @ @) @) () (
frfafea 4 @ oF-9 FaF 9@ B2 fﬂ’ I'
(a) SIS HHHEH, 1955%&@3?@@1&%%&@1%
(b) TH HHT ol SATAINA L I ATRIcTR Sharal 8ﬂ'{ H’gom T TR & o9 TH

Ty R Hiel (TE.ETA.30.) 1 T 3R Jree
(c) 39 T % AMINH o four T:b‘riwqqd wH 3ﬂ'{?rﬁ=! ar T feRe o
(d) aﬁﬁ%@‘ﬁﬁmﬁww%l f
ﬁﬁqw@ﬁvﬁwwwaﬁ
1) @ OIE© @ D) @I @) ()OI @ @) © M@

T T Fo & A BT -9 =98 I8 IUa-4d Hdl § foh ' I Tg 69 & 9} 95 98
Wéﬁ%ﬁégwwgﬁsﬂﬁmmaﬁiﬁr@ww@ﬁ%waﬂﬁwmaﬁtgm
wwﬁ%ﬁw%hwwwﬁw%ﬁw%maﬁigﬁm
STy FCH 2™

e W‘Hf V(@ TR 42 (3) TR 43 (4) oTTT 44

-00o0-

o-azs [N 2

www.examrace.com



Space For Rough Work

0
_\j-()vt}
1-(1 ]-r
TN
)"
€ ¢
9@ ("’
P
<
] (_}1,
£, - |
N
*r

www.examrace.com



